ORIGINAL

DELAWARE COUNTY COUNCIL MEETING June 25, 2019, 9:00 A.M. DELAWARE COUNTY COMMISSIONERS COURTROOM CALL TO ORDER ROLL CALL PLEDGE of ALLEGIANCE TO THE FLAG AGENDA POSTED APPROVAL OF AGENDA

Present: Councilmember Alexander, Councilmember Ballard, Councilmember Chambers, Councilmember Lasater, Councilmember Piper, Councilmember Quakenbush, Auditor Steven Craycraft, Recording Secretary, Ms. Denise Smith, Settlement Clerk, Ms. Donna Patterson, Attorney, Mr. Bill Hughes

ABSENT: Councilmember Bledsoe

APPROVAL OF MINUTES

MOTION: Councilmember Lasater made a motion to approve May 28, 2019 Council minutes. SECOND: Councilmember Piper

YEAS: Councilmember Alexander, Councilmember Ballard, Councilmember Bledsoe, Councilmember Chambers, Councilmember Lasater, Councilmember Piper, Councilmember Quakenbush ABSENT: Councilmember Bledsoe

JUDGE KIM DOWLING-CIRCUIT COURT #6

Ms. Judge Kim Dowling, presented information about Circuit Court #6. The State is looking to absorb city courts into state trial courts. City courts are often not a court of record. The numbers below show justification of adding courts. The numbers show that Circuit Court 6 is needed. This will be presented to the Summer Study Committee for legislature during the summer of 2019. The Bar Association and Prosecutor Hoffman are in support of the Circuit Court 6. Ms. Dowling is requesting a letter stating this was presented before Council and if legislature approves this, the court would need to be funded.

President Quakenbush asked the numbers of magistrates and master commissioners in other counties. Quakenbush said he has experienced this before as a Commissioner and agreed to Delaware County Court #5 and the city agreed to close their court. This happened but then city realized they were losing monies from fees and opened a city court again. Quakenbush questioned, for political reasons, if another Prosecutor could file cases in city court, if elected.

Ms. Dowling said the Prosecutor does not have to file in city court. Ms. Dowling said most counties have multiple magistrates and master commissioners within Indiana. There are a lot of things that "could" happen down the road but as Ms. Dowling previously indicated the state is not in favor of city courts.

Councilmember Alexander is not in favor of adding an additional court, however, he is in favor of not having city court. Alexander does not know how the county would fund additional staff and court.

Council Attorney, Mr. Bill Hughes, will work with Judge Dowling regarding the letter and will present it to Council in July 2019.

ONO	INAL	Circuit C	ourts 1-5	Mund	tie Clty	Circuit Co Muncie City	and a second
Case Category	Weight	# of Cases	Minutes	# of Cases	Minutes	# of Cases	Minutes
DP/LWOP	2.649	0	0		0	0	0.
MR	1,038	3	3,114		0	3	3,114
11	679	7	4,753		0	7	4,753
L2	269	42	11,298		0	42	11,298
L3	232	49	11,368		0	49	11,368
L4	195	85	16,575		0	85	16,575
LS	149	201	29,949		0	201	29,949
LG	92	941	86,572		0	941	86,572
PC	351	8	2,808		0	8	2,808
CM	39	289	11,271	2627	102,453	2916	113,724
MC	17	136	2,312	_	0	136	2,312
XP	25	233	5,825		0	233	5,825
IF	1	15	15	8151	8,151	8166	8,166
ov	2	5	10	236	472	241	482
PS Referrals	423	55	23,265		0	55	23,265
IC	176	376	66,176		0	376	66,176
ID	91	144	13,104		0	144	13,104
IS	17	8	136		0	8	136
IP	146	220	32,120		0	220	32,120
IM	8	212	1,696		0	212	1,696
IT	124	141	17,484		0	141	17,484
IQ	28	0	0	1	0	0	0 –
2	121	118	14,278		0	118	14,278
MF	2:4	271	6,504		0	271	6,504
c	16	1321	21,136		0	1321	21,136
2T	148	240	35,520		0	240	35,520
SC	12	2234	26,808		0	2234	26,808
DC I	259	248	64,232		0	248	64,232
N	39	237	9,243		0	237	9,243
RS	37	26	962		0	26	962
HN	21	992	20,832		0	992	20,832
AD	49	140	6,860		0	140	6,860
S	50	31	1,550		0	31	1,550
U	44	164	7,216		0	164	7,216
M	9	46	414		0	46	414
SU	93	158	14,694		0	158	14,694
R	126	9	1,134		0	9	1,134
0	28	933	26,124		0	933	26,124
S	128	1	128		0	1	128
·P	21	188	3,948		0	188	3,948
/1	32	258	8,256		0	258	8,256
		Minutes	613,063	Minutes	111,076	Minutes	724,139
		Have	7.00	Have	1.00	Have	7.00
		Need	7.89	Need	1.43	Need	9.31
		Utilization	1.13	Utilization	1.43	Utilization	1.33

.

June 25, 2019 County Council

.

.

FINANCIAL AND TRANSFER AGENDA

Ms. Donna Patterson, Settlement Clerk, read aloud requests.

FINANCIAL-OTHER

MOTION: Councilmember Chambers made a motion to approve Reassessment 1188 for \$8,518.00. SECOND: Councilmember Alexander

Favorable recommendation

YEAS: Councilmember Alexander, Councilmember Ballard, Councilmember Chambers, Councilmember Lasater, Councilmember Piper, Councilmember Quakenbush

ABSENT: Councilmember Bledsoe

MOTION: Councilmember Piper made a motion to approve Title IV-D Court Account 123 transfer request (see below).

SECOND: Councilmember Alexander

YEAS: Councilmember Alexander, Councilmember Ballard, Councilmember Chambers, Councilmember Lasater, Councilmember Piper, Councilmember Quakenbush

ABSENT: Councilmember Bledsoe

MOTION: Councilmember Piper made a motion to approve Circuit Court, Dept 1000-138-5 transfer request (see below).

SECOND: Councilmember Alexander

YEAS: Councilmember Alexander, Councilmember Ballard, Councilmember Chambers, Councilmember Lasater, Councilmember Piper, Councilmember Quakenbush

ABSENT: Councilmember Bledsoe

MOTION: Councilmember Piper made a motion to approve Clerk transfer request (see below). SECOND: Councilmember Alexander

YEAS: Councilmember Alexander, Councilmember Ballard, Councilmember Chambers, Councilmember Lasater, Councilmember Piper, Councilmember Quakenbush **ABSENT:** Councilmember Bledsoe

MOTION: Councilmember Piper made a motion to approve Election Board transfer request (see below). SECOND: Councilmember Ballard

YEAS: Councilmember Alexander, Councilmember Ballard, Councilmember Chambers, Councilmember Lasater, Councilmember Piper, Councilmember Quakenbush ABSENT: Councilmember Bledsoe

MOTION: Councilmember Piper made a motion to approve EMS transfer request (see below). SECOND: Councilmember Alexander

Mr. Jason Rogers, EMS/EMA Director, said this is for two employees. One employee retired and one employee left for another job. Discussion took place regarding pay salaries. Delaware County is not paying what other counties are paying.

YEAS: Councilmember Alexander, Councilmember Ballard, Councilmember Chambers, Councilmember Lasater, Councilmember Piper, Councilmember Quakenbush **ABSENT:** Councilmember Bledsoe

June 25, 2019 County Council

4

MOTION: Councilmember Piper made a motion to approve Emergency Management Agency transfer request (see below).

SECOND: Councilmember Ballard

Mr. Rogers said Ms. Sonda Taylor retired.

YEAS: Councilmember Alexander, Councilmember Ballard, Councilmember Chambers, Councilmember Lasater, Councilmember Piper, Councilmember Quakenbush

ABSENT: Councilmember Bledsoe

MOTION: Councilmember Piper made a motion to approve Family Support Division transfer request (see below).

SECOND: Councilmember Alexander

YEAS: Councilmember Alexander, Councilmember Ballard, Councilmember Chambers, Councilmember Lasater, Councilmember Piper, Councilmember Quakenbush

ABSENT: Councilmember Bledsoe

MOTION: Councilmember Piper made a motion to approve Public Defenders Office Dept 139 transfer request (see below).

SECOND: Councilmember Ballard

Ms. Shelly Harvey, office of Public Defender, said this is replacing a Public Defender and to pay attorney's outside of the office, due to the amount of cases being capped out. Two contract attorneys are on staff due to CHIN cases and/or murder cases that must have murder qualified attorneys. YEAS: Councilmember Alexander, Councilmember Ballard, Councilmember Chambers, Councilmember Lasater, Councilmember Piper, Councilmember Quakenbush ABSENT: Councilmember Bledsoe

MOTION: Councilmember Lasater made a motion to approve Sheriff Department 139 transfer request (see below).

SECOND: Councilmember Alexander

YEAS: Councilmember Alexander, Councilmember Ballard, Councilmember Chambers, Councilmember Lasater, Councilmember Piper, Councilmember Quakenbush

ABSENT: Councilmember Bledsoe

MOTION: Councilmember Piper made a motion to approve Community Corrections Fund 2501 transfer request (see below).

SECOND: Councilmember Alexander

YEAS: Councilmember Alexander, Councilmember Ballard, Councilmember Chambers, Councilmember Lasater, Councilmember Piper, Councilmember Quakenbush

ABSENT: Councilmember Bledsoe

ADDENDUMS COUNTY GENERAL

MOTION: Councilmember Piper made a motion to approve Public Defender Office Dept #139 transfer request (see below).

SECOND: Councilmember Alexander

YEAS: Councilmember Alexander, Councilmember Ballard, Councilmember Chambers, Councilmember Lasater, Councilmember Piper, Councilmember Quakenbush

ABSENT: Councilmember Bledsoe

MOTION: Councilmember Piper made a motion to approve Jail 145 transfer request (see below). SECOND: Councilmember Alexander

YEAS: Councilmember Alexander, Councilmember Ballard, Councilmember Chambers, Councilmember Lasater, Councilmember Piper, Councilmember Quakenbush

ABSENT: Councilmember Bledsoe

MOTION: Councilmember Piper made a motion to approve Sheriff 129 transfer request (see below). SECOND: Councilmember Ballard

YEAS: Councilmember Alexander, Councilmember Ballard, Councilmember Chambers, Councilmember Lasater, Councilmember Piper, Councilmember Quakenbush

ABSENT: Councilmember Bledsoe

OTHER

MOTION: Councilmember Piper made a motion to approve Health Department transfer request (see below).

SECOND: Councilmember Alexander

YEAS: Councilmember Alexander, Councilmember Ballard, Councilmember Chambers, Councilmember Lasater, Councilmember Piper, Councilmember Quakenbush

ABSENT: Councilmember Bledsoe

MOTION: Councilmember Lasater made a motion to approve LIT Public Safety-Jail 1170/145 transfer request (see below).

SECOND: Councilmember Piper

YEAS: Councilmember Alexander, Councilmember Ballard, Councilmember Chambers, Councilmember Lasater, Councilmember Piper, Councilmember Quakenbush

ABSENT: Councilmember Bledsoe

MOTION: Councilmember Piper made a motion to approve Cumulative Bridge 1135-400-5 transfer request (see below).

SECOND: Councilmember Alexander

YEAS: Councilmember Alexander, Councilmember Ballard, Councilmember Chambers, Councilmember Lasater, Councilmember Piper, Councilmember Quakenbush

ABSENT: Councilmember Bledsoe

MOTION: Councilmember Piper made a motion to approve transfers and to amend salary ordinance with like reductions (see below).

SECOND: Councilmember Ballard

YEAS: Councilmember Alexander, Councilmember Ballard, Councilmember Chambers, Councilmember Lasater, Councilmember Piper, Councilmember Quakenbush

ABSENT: Councilmember Bledsoe

COMMITTEE REPORTS

- Tax Abatements-none
- Appointments-none
- Personnel, Ms. Pam McCammon, Human Resource Director, presented information for an Assisted Executive Assistant, within Community Corrections.

Ms. Jayne Meranda, Community Corrections Director, said this description will be tagged to the person that is assigned the responsibility of the job and the title would need to be changed. This is a new line item.

MOTION: Councilmember Piper made a motion to approve the job description, as presented. SECOND: Councilmember Lasater

YEAS: Councilmember Alexander, Councilmember Ballard, Councilmember Chambers, Councilmember Lasater, Councilmember Piper, Councilmember Quakenbush

ABSENT: Councilmember Bledsoe

NEW BUSINESS

President Quakenbush said the Health Department building is up for lease. Quakenbush asked that other councilmembers endorse the purchase of the building for \$1.

Mr. Hughes will send a letter of endorsement to the Commissioners.

MOTION: Councilmember Alexander made a motion to approve the endorsement and to send the Commissioners an endorsement to purchase the building for \$1.

SECOND: Councilmember Piper

YEAS: Councilmember Alexander, Councilmember Ballard, Councilmember Chambers, Councilmember Lasater, Councilmember Piper, Councilmember Quakenbush

ABSENT: Councilmember Bledsoe

Mr. Ed Carroll, Treasurer, presented an update regarding the Deed Sale. This is the first Deed Sale in Delaware County. Immediate possession was a factor in the sales and great turnout.

۰`6

2019 Commissioners Deed Sales

.

- 4-500 Attendance 207 Number of Bidders 92 Number of Buyers 321 Number of Parcels in Sale 162 Number of Parcels Sold 50.47% Percentage Sold \$384,937.50 "Collected" Money raised from Deed Sale

\$34,137.58 Annual Tax Collections

Heather Ruddick Josh Taulbee Janet Kessler Mary Murphy <u>Sulsie²Dillon</u> Joe Rhetts Judge Cannon SRI

Prepared by: Ed Carroll County(Ttreasurer

Ms. Melanie Marshall, Recorder, gave praise to her staff for recording the deed from the Deed Sale.

AUDIENCE COMMENTS

Ms. Molly Hunt, Purdue Extension, provided a monthly update.

PURD	UE Extension	Purdue Extension Delaware County 100 West Main Street #202 Muncie, IN 47305 Phone: 765,747,7732
	May Monthly Impac	t Report
Moll	y Hunt: County Extension Director & Health	and Human Services Educator
-	outreach and education event for July 9, 201 Health Services. See attached flyer.	9 in collaboration with Meridian ship training. This is designed for force, individuals seeking work, may way for individuals to update their due University Certificate of cian Quality Certificate, and an evelopment/skills-for-success-
Chel	sie Jaramillo & Lindsey Cox: Community W	ellness Coordinator
-	Chelsie spent a majority of the month wrappin preparing community partners for the transition Lindsey is a life-long local resident in Randol BSU alumni. She looks forward to expanding connections, one of her biggest passions, by where we live, work, and play.	on to a new CWC: Lindsey Cox. oh and Delaware Counties and a her existing community
Carol	Pierson: Nutrition Education Program Assi	istant
	Coordinated with Meridian Pediatric Rehabilit Purdue Extension to be a partner in their anni Summer Lunch Program at Wes-Del Element building a healthy plate. Muncie Public Library-Marin Hunt Will be start with lessons on eating smart, planning healthy exercise in for the day.	ual summer camp. ary-Teaching lessons on My Plate ting Outdoor cooking classes in July

It is the price of the Pareter University Comparison Extension Service that all persons have equal appendixed part in the obscienced programs, services, extileter, and facilities with and region (a text, indigen, and extension) and of the price of the service o

purdue.edu/extension

Joel Brumley: 4-H Youth Educator

- During the second round of embryology, another 250 elementary-aged youths at five schools throughout Delaware County experienced the Chick Embryology program, hatching chicks in their classroom, strengthening their scientific observation skills Over twenty high school aged 4-H members from Purdue Extension's Area 11 (including Delaware County) continued their nine hour, face-to-face Camp Counselor Training in Richmond. Camp counselors learned about team building, dealing with bullies, and behavioral expectations for them at camp this June

Mark Carter & Laurynn Thieme: Ag & Natural Resources Educators

- .
- Met with 2 local producers to discuss their precision planting and spraying programs. They are looking to implement new technologies to all them more productivity Concluded 10 week Indiana Master Naturalist series with Ball State and Red-tail Land Conservancy educating 24 adults on conservation, preservation and environmental issues. Provided a three hour program at TRC Head Start educating teachers and other Head Start staff on bringing nature into early education classroom settings.

PURDUE Extension

··9

3



Several Youth Leader Representatives attended the Council meeting and spoke on the community involvement of 4-H.

ADOLESCENT SUBSTANCE USE: WHAT CAN PARENTS DO?

FOR PARENTS OF CHILDREN AND TEENS

DATE Tuesday 7/9/2019 | TIME 5-30 – 8-30 PM EST Suzanne Gresham Center 3620 W White River Blvd. Muncie IN 47304

hunt55@purdue.edu

Please Contact Dr. Kristine Marceau at BDL@purdue.edu with any questions or concerns!

.11

ABOUT US

The goal of this program is to provide parents with information from research on strategies that work for the prevention of adolescent substance use. This interactive, 2-hour long program will include:



This program is being put on by the Biobehavioral Development Lab at Purdue University Ms. Marshall gave a personal invitation to Councilmembers to attend 2019 Delaware County Fair.

Councilmember Piper said she attended along with ECI Planning District the 2019 Washington Fly-in, located in Washington, D.C.

Councilmember Ballard said EMS/EMA does not get the support that they need. This is a State wide problem and is very frustrating.

Councilmember Lasater said Association of Counties conference will be held in September 2019. Lasater asked that Mr. Bill Walters, Economic Development, submit Delaware County as an outstanding county.

President Quakenbush said he has been involved with EMS. Quakenbush was in support of Paramedic's in late 1970's early 1980 during his election. State of the Art equipment was purchased and Delaware County has tried to pay fair salaries.

PRESIDENTS REMARKS

State legislature changed the way community and mental health is funded. Local tax rate has ½ million plus going to comprehensive mental health. The Board does not have anyone from local county, Board of Health, Commissioners or Council. This is mandated that the Auditor writes a check once a year. Quakenbush asked Mr. Steven Craycraft, Auditor, how the new bookkeeping system is coming along and how this is being worked out.

Mr. Craycraft, said the Auditor's office are still working on the new bookkeeping financial system. Mr. Craycraft is in hopes that this can be done with no monies. The Finance System has the capabilities but after ½ dozen phone conversations and meetings, Craycraft said he is should have additional information at July 2019 meeting. This is mandated by the State.

President Quakenbush said if this is something that has to be done then this is the time to do it.

Ms. Patterson asked that Mr. Jim St. Myer's family remain in thoughts and prayers, due to his wife passing away. Ms. St. Myer was a volunteer during the fair.

ADJOURN

MOTION: Councilmember Alexander made a motion to adjourn. SECOND: Councilmember Piper YEAS: Councilmember Alexander, Councilmember Ballard, Councilmember Bledsoe, Councilmember YEAS: Councilmember Alexander, Councilmember Ballard, Councilmember Chambers, Councilmember Lasater, Councilmember Piper, Councilmember Quakenbush ABSENT: Councilmember Bledsoe

Councilmember Alexander	Lyon Ceg
Councilmember Ballard	Allo L
	U

Councilmember Bledsoe my Blacken

Councilmember Chambers

Mary Chamber

Councilmember Lasater

Jan Fuster

Councilmember Piper Jussi P-p-

President Quakenbush

Donna Pattenson, Deputy Auditor, Steven G. Craycraft

2

. .

.

•

Ing S	11 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	0.0
EtVIS	LEBHRO	ABA A A
EMERGENCY MANAGEMENT SERVICES		014-14
PERSONAL SERVICES		
Salaries and Wages		2.025
1000-155-5-0000-B123	-21,822.12 -	-2100
1000-155-5-0000-C123	21,822.12	2182
1000-155-5-0000-102	-14,274.65	-1420
1000-155-5-0000-A102	14,274.65	1427
TOTAL	0.00	0-
3		
EMERGENCY MANAGEMENT AGENCY		
PERSONAL SERVICES		
Salaries and Wages		- A
1000-152-5-00000-104	-15,672.27	15,672
1000-152-5-0000-A104	15,672.27	15167
TOTAL	0.00	1
FAMILY SUPPORT DIVISION		*******
PERSONAL SERVICES		
Salaries and Wages		
237 106A IV-D ASSISTANT	-15,000.00 7	5,000
237 106B IV-D ASSISTANT	15,000.00	15,0
TOTAL	0.00	1-2
PUBLIC DEFENDERS OFFICE DEPT 139		
PERSONAL SERVICES		
Salaries and Wages		
147 Deputy Public Defender	-17,745.86	-11,1
A147 Deputy Public Defender	17,745.86	17,4
186 Attorney Fees	-20,000.00	- 20,0
OTHER SERVICES AND CHARGES		
130 Court Ordered Counsel (contract) 3) 9	20,000.00	20,00
TOTAL	0.00	1.4
SHERIFF DEPT 129		
PERSONAL SERVICES		
Salaries and Wages		
DIIO SERGEANT	-2,955.21	2955.
C110 SERGEANT	2,955.21	2955
TOTAL	0.00	-15

.

. . 15

· · · · · · · · · · · · · · · · · · ·	<i>OR</i>	GIMA
WHEREAS: It has been determined that it is now necessary to appropriate annual budget:	more money than was appropriated	in the
SECTION 1, THEREFORE: Be it ordained by the County Council of Dela	ware County. Indiana, that for the ex	penses of
said municipal corporation for the following additional sums of money are l		
the several funds for the purposes herein specified subject to the laws gover	ming the same on June 25, 2019	
TRANSFER AGENDA FOR COUNTY COUNCIL MONTH OF 6/25/2019		
COUNTY GENERAL		
TITLE IV-D COURT ACCOUNT 123		
PERSONAL SERVICES		
Salaries and Wages		
175 Insurance	-750.00	-150.
172 PERF	750.00	150
TOTAL	0.00	P
CUD CUUM COVIDE DENT 1000 130 5		
CIRCUIT COURT, DEPT 1000-138-5		
PERSONAL SERVICES Salaries and Wages		
Salaries and wages 191 Probation Officer	206.00	-241
158 Probation Officer	-386.00 386.00	900
TOTAL	0.00	584
	0.00	~~~
CIRCUIT COURT, DEPT 1000-138-5		
PERSONAL SERVICES		
Salaries and Wages		
155 Chief Probation Officer	-4,731.00	-4731
D189 Chief Probation Officer	4,731.00	473
TOTAL	0.00	
CIRCUIT COURT, DEPT 1000-138-5		с
PERSONAL SERVICES	Constraints of the second s	
Salaries and Wages		11 - 12
155 Chief Probation Officer	-16,330.00	14320-
A155 Adult Probation Officer	16,330.00	111330
TOTAL	0.00	The
COUNTY CLERK		
PERSONAL SERVICES		
Salaries and Wages		
125/C119 Deputy Clerk	-18,388.15	- 15 308
125/D 119 Deputy Clerk	18,388.15	10 75
TOTAL	0.00	-18,20
	0.00	
ELECTION BOARD		
OTHER SERVICES AND CHARGES		0000
1000-142-315 Precinct Workers	-2,000.00	2000-
1000-142-311 Legal Services	2,000.00	2000
FOTAL	0.00	

.

.

	riated in the
	ed for June 25
and the second second second	tere in consider contracts a list for a line
220.00	220.
	0000
7,927.00	1921
371.00	571
8,518.00	0516
	7,927.00

1

.

	D	Demens
COMMUNITY CORRECTIONS FUND 2501	6	0003643
PERSONAL SERVICES		
Salaries and Wages		
2501-215-5-10000-102 Assistant Executive Director	3,500.00	3500
2501-215-5-1000B-119 Court Alcohol and Drug Case Manager	930.00	930
2501-215-5-1000A-140 Fred Surveillance Officer	-4,430.00	-4430
TOTAL	0.00	70
Councilmember Alexander		
Councilmember Bledsoe		
Councilmember Chambers III any Cleamber		
Councilmember Lasater Jane Lacalit		
Councilmember Piper Juser Pro		
Auditor Crayeraft		

.

з

·,`

OTHER		
HEALTH DEPARTMENT		
Salaries and Wages		
1159 200 5 00000C-109 Environmental position	16,108.77	16108.7
1159 200 5 00000B-109	-16,108.77	-110108
TOTAL	0.00	10100
LIT PUBLIC SAFETY-JAIL 1170/145 PERSONAL SERVICES		
Salaries and Wages		
1170/115 Correctional Offier	-25,771.76	-25771
1170/A 115 Correcitonal Officer	25,771.86	25171
FOTAL	0.70,	
CUMULATIVE BRIDGE 1135-400-5-00000		
PERSONAL SERVICES		
Icalth Insurance		
1135-400-5-00000-173	-2,500.00	2500.
135-400-5-00000-199	2,500.00	-2500.
OTAL	0.00	1
Councilmember Alexander		
Councilmember Ballard		
ouncilmember Bledsoe		
ouncilmember Chambers Mary Chambers		
ouncilmember Lasater Jan Lasate		
ouncilmember Piper Jussi Pjour		
puncilmember Quakenbush for verefaele C		
uditor Craycraft		

;

	(IBIGIAIA I	
	CORRECTED CORRECT	
WHEREAS: It has been determined that it is now	necessary to appropriate more money	than was
appropriated in the annual budget:		
SECTION 1, THEREFORE: Be it ordained by the	County Council of Delaware County,	Indiana, that for the
expenses of said municipal corporation for the follo and ordered set apart out of the several funds for the	owing additional sums of money are he be purposes herein specified subject to t	the laws governing
the same. June 25, 2019 ADDENDUM	e parpeses nerem speerned subject to t	
COUNTY GENERAL		
PUBLIC DEFENDER OFFICE DEPT#139		
PERSONAL SERVICES		
Salaries and Wages		1.1001
199 Longevity OTHER SERVICES AND CHARGES	1,884.00	.+1007.
313 Psychological Testing	-1,884.00	-1884
TOTAL	-1,884.00	
JAIL 145		
PERSONAL SERVICES		
Salarics and Wages		
145/D142 Correctional Officer	-17,571.76	-11511.
145/E142 Correctional Officer	17,571.76	17.57
TOTAL	0.00	-40-
SHERIFF 129		
PERSONAL SERVICES		
Salaries and Wages		
B129 DEPUTY	-1,787.50	-178750
B101 SHERIFF	1,787.50	1785
B129 DEPUTY	-5,103.51	-5103,
C129 DEPUTY	5,103.51	5103
TOTAL	0.00	

.

, *****